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· Vyluštěte zašifrovanou zprávu

	1
	2
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	4
	5
	6
	7
	8
	9
	10
	11
	12
	13
	14
	15
	16
	17
	18
	19
	20

	M
	O
	U
	A
	V
	R
	C
	L
	E
	K
	T
	Z
	S
	B
	I
	Ž
	Ř
	N
	J
	D






9  - 4 =  	

10  - 7 =  	

10 + 4 =  	



2 + 7  =  	

10 + 6 =  	

5 - 2 =  	



3  + 5  =  	

20 - 0  =  	




10 + 5 =  	

2 + 10 =  	

5 + 4  =  	



3  + 7  =  	

8 - 4 =  	

7 - 6 =  	



6 - 4 =  	

3  + 6  =  	




8 + 10 =  	

10 +10 =  	




7 - 5 =  	

7 - 2 =   	

4 + 10 =  	



17- 10 =  	

1  + 8  =  	

9 - 5 =  	



10  - 1 =  	

7  + 10 =  	

2  + 4  =  	



11 - 10 =  	

15 -10 =  	




9 + 10 =  	

5  + 10 =  	

10 + 5 =  	



10 + 3 =  	

1 + 10 =  	



9 - 7 =  	


6 - 3 =  	

8 - 3 =  	


7  + 2 =  	


10 + 9 =  	

TAJENKA  :	9 - 2 =  	

4  + 5 =  	












ŘEŠENÍ:
· Vyluštěte zašifrovanou zprávu
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TAJENKA:

VELIKONOCE JSOU UŽ  ZA  DVEŘMI BUDEME BARVIT VEJCE
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